ENGLISH

pirections for Q1 to Q2: Choose the option that
pest matches the analogy:

al. Drip:GushI
(AYCry : Laugh (B) Curl : Roll
(C) Stream : Tributary (D) Dent : Destroy

Q2. Topaz:Yellow
(A) Amethyst : Purple  (B) Jeweler : Clarity
ﬁ}-<Sapphire : Red (D) Diamond : Carat

pirections for Q3 &Q4: Choose the correct one-
word substitution for the given word/sentence:

Q3. Astyle in which a writer makes a display of
his knowledge

Mdantic (B) Verbose
(C) Pompous (D) Ornate

Q4. One who loves mankind is called

(A) Optimist B)-Philanthropist
(C) Optometrist (D) Truant

Directions for Q5 to Q6: Choose the correct
option for the given proverb/idiom:

Q5. To cater a tartar

(A) To trap wanted criminal with great
difficulty

‘/(B-}’I'o catch a dangerous person
(C) To meet with disaster

(D) To prepare and serve a dish called steak

Q6. To cry wolf
(A) To listen eagerly
To give false alarm
(C) To turn pale
(D) To keep off starvation

Directions for Q7 to Q8: Choose the option
which best express the given sentence in
Indirect/Direct speech:

Q7. She exclaimed with sorrow that it was a
very miserable plight.
(A) She said with sorrow, “What a pity it is.”
(B) She said, “What a mystery it is.”
(C) She said, “What a miserable sight it is.”
‘(P)’She said, “What a miserable plight it is.”

(3)

Q8. “Are you alone, my son?” asked a soft voice
close behind me.
soft voice behind me asked if | was
alone.
(BY A soft voice said to me are you alone
on,
-{C) A soft voice from my back asked it | was
alone,

{D) A soft voice asked that what | was doing
there alone,

Directions for Q9 to Q10: Select the correctly
punctuated sentence:

Q9.
/9)/ Spain is a beautiful country; the
~"beache’s are warm, sandy and spotlessly
clean.
(B) Spain is a beautiful country: the beaches
are warm, sandy and spotlessly clean.
bain is a beautiful country, the beaches
are warm, sandy and spotlessly clean.
(D) Spain is a beautiful country; the beaches
" are warm, sandy and spotlessly clean.

Q10.
(M’lsfaui’s neighbours were terrible; so his

‘/k:rother’s friends went round to have a
word. '
(B) Paul’s neighbours were terrible: so his ,
brother's friends went round to have a
word.
(C) Paul's neighbours were terrible, so his
brother's friends went round to have a
word.
(D) Paul's neighbours were terrible so his
brother's friends went round to have a

word.

Directions for Q11 to Q13: Choose the correct
synonym of the given word:
Q11. Desolate

(A) Fertile (B)Barren

(C) Intact (D) Bright
IQl?.. Pacify

(A) Null (8) Captive

(CMCalm (D) Remit
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Q13. Emulate
(A) Imitate

,[B)'fhable
(C) Differ

(D) Neglect

Directions for Q14 to Q17: Choose the correct
antonym of the given word:

Q14. Audacious

(A) Risky (B) Bold

\(Q‘Fﬁzckless (D) Cautious
Q15. Plausible

?)ﬁatiunal (8) Valid

C) Logical (D) Reasonable
Q16. Vivacity

(A) Zeal (B) Vigorous

(C) Fatigue _DYAcknowledge
Q17. Insipid

(A) tasty (B) stupid

(C) discrete LD(feast

Directions for Q18 to Q19: Choose the most

appropriate one word substitution for the given
description:

Q18. Persons living at the same time -
(A) Colleagues

ontemporaries
(C) Ancestors

(D) Forefathers

Q19. Study of birds-
(A) Virology

(B) Entomology
(C) Ornithology

mnthropology

Directions for Q20 to Q24: Read the passages
that follow and choose the correct options that
can replace the underlined portions.

Grandma has Alzheimer’s disease. In other words,
she is Q20. The one Q21 symptom of her disease
is that her memory is very Q22. She cannot
remember things or gets them all Q23 up. So she
forgets where she has kept things and often will
be busy is a Q24 search for them.

Q20.
;){apathetic (B) senile
sensitive (D) bizarre

(4)

Q21.

(A) cheerless (B) disagreeable _

(C) glaring ID)credible
Q22.

(A) good (B) genuine

(C) excellent AD}-bad
Q23.

(A) confused (B).mixed

(C) linked (D) arranged
Q24, .

() reluctant (B) frantic
(C) elaborate (D) discreet

Directions for Q25 to Q29: Read the passages
that follow and choose the correct options that
can replace the underlined portions.

The rainforest gives us so much, and has so many
possibilities, yet we 025 and burning it down.
Animals, plants and insects Q26 at the rate of
1,000 species per vyear. If the rainforest keeps
Q27 at the current rate, 10,000 species will be
wiped out per year. If we want to save the earth,
we Q28 with the rainforests. They are the
connection between man and nature, The
rainforests are the most valuable resources we

Q29.

Q25.
. (A)cleared
(B) are being cleared
are clearing
(D) have been cleared

Q26.
 (A) eradicated
(B) have been eradicated
(C) were eradicated
) are being eradicated

Q27.
(A) been destroyed
(B) is destroyed
_(C) being destroyed
{PT destroyed
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Q28.

(A).must start (B) must be started
C) start (D) started

Q29.
(A) has (BYfave

(C) are having D) have had

pirections for Q30 to Q34: Read the following
passage carefully and answer their related
questions by choosing correct options.

There seem to be just two ways of perceiving
time: some people complain about never having
any, others are always looking for ways to kill
time. But time is actually very fairly distributed,
Everyone gets 60 minutes per hour and 24 hours
per day, net. It is only the daily tasks that are
distributed unequally. They make the day too
short for some people and too long for others.
Just imagine a pupil who is handed his lessons for
the week all in one lump by the teacher: “By
Saturday you have to do 100 maths problems,
read 20 pages in your reading book, write two
dictations and a composition, and know all about
the geography of the North Sea and about the
biblical flood. You must also learn two songs,
participate in sports and find time for needlework
and drawing.” The pupil will probably be shocked
by this mountain of work and prefer to stay in
bed pretending to have flu. However, divided
according to subjects and lessons, the weekly
workload is not as intimidating. The pupil sees
that all the subjects can be covered — and there is
free time as well.

Q30. What ‘mountain of work’ does the writer
referto?
(A) Only one hundred maths problems
( }'Work that has be done on Saturday
(C) Daily tasks
(D) Work to be done that week

Q31. The phrase ‘all in on lump” means
erculeus task

(B) all together at a go
_(C) Difficult work
(;D} mountain of work

(5)

Q32. Why does the author use ‘actually’ in the
sentence ‘But time Is actually very fairly
distributed'?

)‘/(A ecause everyone gets 60 minutes per
hour and 24 hour per day net,
(B) Because all have the same time at their
disposal,
(C) Because dally tasks are distributed
equally,
(D) Because people complain that they get
or don’t get time.

Q33. Which word is opposite in meaning to
intimidating as used in the passage?
(AY dominating (B) fearful
Jeruncasy (D) encouraging

Q34. When does the pupil see that all the
subjects are covared and he has free time?
(A) When he is in bed
(B) When he has flu
‘,(G)"When the work is divided
(D) When the work is less

Directions for Q35 to Q36: Replace the
underlined with synonymous options.

Q35. Being inquisitive, | ran to where the crowd
had gathered.
curious (B) eager
(C) observant - © (D) heroic

Q36. In his wrath, the king ordered the knight to

be executed.
V(Kf‘jeudgment '

(C) sorrow

(B) opinion
(D) anger
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Directions for Q37 to Q41: Read the passages
given below and answer the questions that
follow it, using the options provided,
When you imagine a desert, you probably think of
a very hot place covered with sand. Although this
is a good description for many deserts like the
Sahara in Africa, Earth's largest desert is actually
avery cold place covered with ice |.e. Antarctica,
For an area to be considered a desert, it must
receive very little rainfall. More specifically, it
must receive an average of less than ten inches of
precipitation — which can be rain, sleet, hail, or
snow —on the ground every year. Antarctica, the
coldest place on earth, has an average
ter:nperature that usually falls below the freezing
point. And because cold air holds |ess molsture
that warm air, the air in Antarctica does not hold
rnuci.l moisture. This is evident in the low
precipitation statistics recorded for Antarctica.
For example, the central part of Antarctica
receives an average of less that 2 inches of snow
€every year. This coastline of Antarctica receives a
little bit more- between seven and eight inches a
year: Because Antarctica gets so little
precipitation every year, it is considered a desert.
Q37. Thg_rnain purpose of the first paragraph is to
_{A) Deny a common belief.

(B) Introduce an argument.

(C) Provide a brief history.

(D) accept a conclusion.

Q38. The best title for this passage would be:
(A) Earth’s Many Deserts.
Antarctica: The Coldest Place on Earth.
(C) A Desert of Ice.
(D) Unusual Blizzards.

Q39. Based on the information in the passage,
what characteristic does the Sahara share
with Antarctica?

(A) Low temperatures
(B) High temperatures

(C) Erequent blizzards’
/LD‘]/L::w precipitation

QA0. As used in the passage, which is the best

definition for ‘precipitation’?
\/(M"Mnislum in the air that falls to the

ground
(B) Any type of weather event
(C) Weather events that only happen in
very cold areas
(D) A blizzard that occurs in areas with
limited snowfall,

QA1. It can be understood that the word ‘this” in
the clause ‘This is evident........ ! means that
(A) Africa has the lowest precipitation,
(B) Air surrounding a tropical island holds
less moisture that air in Antarctica.

JEJ)AI: in Sahara holds more moisture that

alr in Antarctica,
(D) Air at the mountains is typically colder
that air at the beach.

Directions for Q42 to Q43: Choose the most
suitable passive voice conversions of the given
sentences:

Q42. They were laughing at the clown.
(A) The clown is laughed at them.
(B) The clown was laughed at by them.
__[CyThe clown was being laughed at by
them.
(D) The clown has been laughed at by them.

Q43. Had he broken his elbow in the accident?
(A) Had been his elbow broken by him in

the accident?
(B) Had his elbow be ‘broken in the
accident?

Had his elbow been broken in the
accident?

(D) None of these
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pirections for Q44 to Q48: Read the following
passages and answer the questions that follow:
gtiquette is the unwritten code that governs
social behaviour. Etiquette reflects formulas of
conduct in which society or tradition have
invested. Western etiquette tells people to greet
friends and acquaintances with warmth and
respect, refrain from insults and curiosity, offer
hospitality equally to guests, wear clothing suited
to the occasion, talk properly, eat neatly and
quietly, avoid disturbing others, follow the rules
of an organization, arrive promptly when
expected, comfort the bereaved, and respond to
invitations promptly.

violations of etiquette can cause public disgrace,
and in private, hurt individual feelings, create
misunderstandings or real grief and pain.

some people feel etiquette to be an unnecessary
restriction of freedom of personal  expression.
However, wearing pajamas to a wedding in a
cathedral may be an expression of the guest’s
freedom, but may also cause the bride and groom
to suspect that the guest is expressing
amusement or disparagement towards them and
their wedding.

Etiquette is dependent on culture; what is
excellent etiquette in one society may shock in
another. Etiquette can vary widely between
different cultures and nations. In China, a person
who takes the last item of food from a common
plate without offering it to others at the table is
seen as a glutton whilst in most European
cultures he/she is expected to eat all the food
given to them, as a compliment to the cooking. In
some societies, it is considered disgusting to eat
with the left hand, and left handed individuals are
sometimes forced to use their right hand.
Recently, the Internet has created Netiquette,
which governs the drafting of e-mail, rules for
participating in online forums, and so on.

Q44. Choose the most appropriate title for this
passage.
Etiquettes and Manners’
(B) »(estern Etiquette’
Etiquette and Culture’
(D) ‘Importance of Culture’

(7)

Qas. Fill in the most appropriate word:
Soclal behaviour by the unwritten
code, Etiquette,

() decides _(B)isfoverned
(C) shows (D) Is shown

Q46. The etiquette should not be broken
because
(A) It may cause public dlsgracc
(B) It may cause shock
(C) It may hurt feelings

P Il of these

Q47. Etiquette and Culture are
(A) Interdependent  (B) Dependents
(C) Excellent "(D)’Widelv different

Q48. Which word in the passage means ‘insult’?
(A) Desire (B) Glutton
sparagement  {Df Hospitality

Q49. How do you spell the word that means “in
opposition to a civil authority or

government”?
(A) Siditious (B)Seditious
(C) Setitious (D) Saditious

Q50. How do you spell the word that means
"someone who is unwilling to spend”?
)y Penunous (B) Penirious
~(C) Punurious . - . (D) Pinurious
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GENERAL KNOWLEDGE

Q51. Which country hosted the G20 Summit in

20237
(A) United States la)‘lndia
(C) China (D) Japan

Q52. Who is the current Chief Justice of India?
(A) Sanjeev Khanna
(B) D.Y. Chandrachud
_(C)Sharad Arvind Bobde
(D) Ranjan Gogoi

QS3. In which year did India Iaunch the "Digital

India" initiative? ' ,-f
(A) 2020 &1} 2018
(C) 2016 (D) 2014

Q54. What is the full form of "UNESCO"?

(A) United Nations Educational, Scientific
and, Cultural Organization

((B) United Nations Environment, Science,’
and Consewatlon Organization
(C) United Nations Economic, Scientific, and
Cultural Orgamzatlun :
-(D United Nations Environmental and
Science Orgamzat]on

Q55. What is the srgmf‘cance of “International

Yoga A Day" and when is it observed?

) Promotes traditional exercise; observed
on June 21
(B) Highlights physical health; observed on
July 10

Advocates mental wellness; observed on

August 15

) Encourages outdoor activity; observed
on March 15

Q56. What does the acronym "NITI" in NIT| Aayog
stand
ational Institute for Transformation of
India
(B) National Institution for Transforming
India
(C) National Integration and Transformation
Institute
g;ﬂ National Indian Transformation
‘Initiative

(8)

Q51. 2023nrznﬁmuﬁmﬁm=ﬁﬁ‘mém
#
(A) 3 T ST
()

(B) 9Tt
(D) S

(52, It 3 Adur e A e )
(A) tafia @
(B) a1, w773
(C) w ayefe A
(D) Eor i

Q53 v  fefireet gfaar ueet Fro gy oy,
(A) 2020 (B)2018
(€) 2016 (D) 2014

Q54, "rarEn" 71 Ul & 1 87
()i e e, A e e fo i
(C) wyh 1w 3niefer, At A arer o wma
(D) W T Farterer 3 forg wmz

"I ARt e F e @ s

AT ST 87

(A) TRIRG: ST T STGTET ST &; 21 SH 1 591
T

(B) Tt T2 T o131 STl 8; 10 Selts &1
AT T ' '

(C) AT oo Y Sehierd a1 8; 15 AT &
TR T

(D)Erraﬂfrﬁrﬁﬁrq?fﬁm%am% 15 91

T T

Qs5.

Q56. +fifer SARIT I "NITI" 1 Wiftaw &g T o
(A) TrTer $Re2yE it giawhiiem siw dfem
(B)ﬁmﬁﬁzzﬂgfﬂgivﬁﬁ‘rrafm?%m
C) TR 49 s gt sy
(D) e §feam giawiiem shftmfes
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0s7- which country hosted the 2023 FiFa
women's World Cup?
(A) Japan
(8) Brazil
(C) Germany
(D)Australia and New Zealand

58. Who is the Secretary-General of the United
Nations as of 2024?

(A) Ban Ki-moon \{li) Antdnio Guterres

(C) Kofi Annan {D) Jens Stoltenberg
@59. What is the "National Flower’ of India?

(A) Rose AB) Lotus

(C) Jasmine (D) Sunflower

QB0. Name the country where the Amazon
rainforest is located,
(A) Brazil
(C) India

(B) Argentina
(D) Indonesla

Q61. Who won the 2023 Oscar for Best Actor?
(A) Will Smith
1(?’j::l:clquin Phoenix
)

Brendan Fraser
(D) Leonardo DiCaprio

Q62. Which metal is commonly known as “liquid

metal"?
Mercury (B) Sodium
(C) Lead (D) Zinc

Q63. Where is the headquarters of the
International Monetary Fund (IMF)

located?
(A)Geneva (B) New York
) Washington, D.C.

(D) London

Q64. What is the aim of the "Pradhan Mantri Jan
Dhan Yojana"?

(A) Digital literacy for all
ﬁ)’ﬁ:anual mclusmn and bank accounts
forall

(C) Healthcare for senior citizens
(D) Skill development for youth

Q65. Who is the current Chairperson of the
Indian Space Research Organisation (ISRO)?
K. Radhakrishnan  (B) K. Sivan
(C) A.S. Kiran Kumar (D) S. Somanath

(9)

Q57. 2023 iy wifeent Fow wy ) et fem 2w a &0
(A) 9T
(1) s
() @i
(D) sfreferm afte =iz

Q5H. 2004 a0 dagw, 1 % v 4 §7
(A) a2 ) 14 (1) i w2
(C) Y 33174 (1) ey w2tz

QS9. ¥ &1 “Trefve ey s B
(A) T
(C) T

(13) %51
(D) wgrasgedt

Q60 397 W0 a1 =y Farga sl s ata fe By

(A) A (B) s
(C) wia (D) FZrAferm

Q61 wan sfiaan w1 2023 %1 sfrew grewn fewa A
(A) et fearg
(B) sifa fifaa
(C) #zA e
(D) feramet fedfoan

Q62. o v 1 W= e T % AT A W= A
3

(A) 9T (B) ®ifean
(C) diem (D) F=
Q63. IIRIEErT W1 W (IMF) 1 §errer =21 fiua 2
(&) foar (B) =+
(C) TniimesT, Sha. (D) &=

Q64. "THTAHT T 8 FISHT" T g T
(A) it 3 f Fefres amerar
B) w1 % o oy aordem sl S @l
(C) 3 At & o e ey
O) ERiF s few . -

Q65. ﬂrrcﬂtraammgwﬁma-—rusm) Bty
AT B
(A) %, TR
(C) wug. o wm

(B)F. R
(D) T AT
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Q66. Whao Is known as the "Father of Indian Space
Program"?
(A) Vikram Sarabhai

“(B) AP, Abdul Kalam
A /(C} Satish Dhawan

'\ (D) Homi Bhabha

Q67. What does "URL" stand for In web
terminology?
(A) Universal Resource Locator
(0) Uniform Resource Locator

“(€) Unified Resource Link

(D) Uniform Reglstry Link

Q68. Who was the first Indian woman to go to
space?
(A) Sunita Willlams
(C) Ritu Karidhal

(B) Angusheh Ansarl
JD]‘I(alpanu Chawla

Q69. Which Indian state is known for the Ajanta
and Ellora Caves?
(A) Maharashtra (B) Karnataka
[C)“Madhya Pradesh (D) Gujarat

o

Q70. What does "NASA" stand for?
(A) National Aerospace and Space
Administration
(BY National Aeronautics and Space Agency
(C) National Aeronautics and Space
Administration
(D) North American Space Admlnistra]:ion

Q71. Which state in India is famous for the -

“Chhau" dance?

™
(A) f}_ajasthan (B) West Bengal
(})'Ddisha (D) Maharashtra

Q72. What is the full form of "DRDO"?
-‘(?yﬁefence Research and Development
rganisation < :
(B) Digital Research and Development
Organisation ‘ N7
(C) Disaster Relief and Defence Organisation
- (D) Department of Research and
Development Office

Q73. In which country are the headquarters of
the Red Cross located?

(A) Upited Kingdom
}W/rgnce

A

(B) United States
(D) Switzerland

(10)

Qb6

(67,

(068,

069,

Q70.

Q71

Q72.

Q73.

wyqreeftas siafend v & FF & &9 0 5 ST
wren 87

(A Fran wpard

(1) 1.0 R, et Az

() wdran v

(1) #1ft v

g ey 3 T e ad 8
(A) et freinit ivezr

(1) 7fewinh froeivdd ez

() rfferadten freined fitor

() feredn 1t f4

sferfuen o St aarelt et sieev sfe 5 oy
(A) wfrenn Fafermean (B) #4717 derrhy
() froy wrforet (D) #2521 e

A 61 7 T T ke S v £y et
fesgur spre1t rert 7
(A) weHrs
(C) o1 23t

(B) #A412H
(D) T

"ATET" 1 FH A 27

(A) Ui vFio A Zafi g
(B) 7 wiifzTa vz 7 v
(C) Ui i va Zafa gaea
(D) I AR FAd v T

. ST 1 %A §1 U= 215" 77 & o 0ia4 87

(B) 9fzm st
(D) wEmr

(A) U=
(C) anfEwm

" SIARE AT 1 o e T R

(A) Fetra frat iz Samiie SAEaTH
(B) feforeet fra de Taemiie g
(C) feme fiefis v fetha amimdsem
(D) feurdiiz 31w fat U Saermiie iifew

X shiw i e fore e 2
(A) T5es frem (B) TR U= Sdfear
(©) g (D) fezeredts

SET-B/CLASS-1X/2025-2€

G Scanned with OKEN Scanner



Which state in India is famous for the

4.
7 wmeenakshi Temple"? .
(A) Karnataka _AB)Kerala
- (c) Tamil Nadu (D) Andhra Pradesh

75. Which Indian state is home to the Kazirango
National Park, known for its one-horned

rhinos?
JAssam (B) Meghalaya
C) Bihar (D) Uttarakhand

q76. What does the term "GDP" refer to in
economics?
Gross Domestic Product
B) Global Development Plan
(c) General Domestic Plan
(D) Gross Demand Product

q77. What is the chemical formula of salt?
(A) H:0 _{BTNaCl
(€) CO: (D) 02

Q78. Who is known as the "Father of Modern
Physics"?

(A) Isaac Newton (B) Niels Bohr

(C) Galileo Galilei _(D)Albert Einstein
Q79. Where is the Great Bafrier Reef Incat.ejd? .

(A) India (B) Australia

(C) United States South Africa

080. Which country hosted the 2024 Summer
Olympics? P
{B) France

(A) United States
(C) Japan (D) Italy
a81. Which river is known as the "Lifeline of
Egth"? G
(A) Amazon (B) Yangtze
(D) Ganges

(})‘fﬁle

082. Which element has the chemical symbol

IIFeIl? i
(A) Lead ,{Bﬂ?on
(C) Fluorine’ (D) Silver

83. Which country is known as the "Roof of the

World"?
China

(C) Nepal

(B) Switzerland
(D) Tibet

(11)

74, virea s ey v el e % fe wfa 7
(A) il (B) #7A
() fterrg (1) iy 9271

075, WM siiefin i swpfiin JI'-fW U 53, Wl
0 g affoy s Wit 3 forw, Sean vt 7
(A) 3ty MLRIEL]
() Fargne (D) Fanps

Q76. 3tdanrer if vy e w61 514 7
(A) e wie] Fer
(1) A Prewry aivarnn
(C) G v qrar
(D) Ykiet Wit 3913

Q77. Wk @t arafyes g 401 87
(A) H20
(C) CO:

(B) NaCl
(D) Oz

Q78, "3y witfereh 3 e % 1§ fr ST
&

{A}am%m_a (B) red a5

(C) efiferar fefieh (D) I AR
Q7. e e o v et 2

(A) W (B) i feran

(C) Ggeh Ua i (D) 2T SThT

Q80. 2024 ST Vel {Ueh ol AT 12 <1 4 F?
(A) 9 Tod 3T (B) Wid
(©) T (D) e

Q81. & €t = Rr <hi iaw @ F w9 § ST S
34

(A) S (B) Fitesft
© = (D) T
QB2 for o 1 T foeg "Fe @7
(A) rar (B) ¥l
(C) weltt (D) =iat
Q83. o Qur it vy <y T 3 I A ST ST 82
Ay (B) fagwets
(C) U (D) fereea
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Q84. What is the study of earthquakes called?
(A) Vulcanology (B) Seismology

J;} Geology }Q[Ecologv

Q85. Which state in India is the largest producer

of coal?
(A) Maharashtra (B) Odisha
(C) Chhattisgarh D) Jharkhand
Q86. Which is the largest organ in the human
bogly?'
{:A)} I.Lver (B) Heart
C) Skin \Qj.tuﬁ'gs

Q87. In which year did the Indian Parliament pass

the Right to Information Act?
(A) 2010

A (B) 2012
(C)2008 (D) 2005
7~
Q88. Which country is the largest producer of silk
in the world?
(A) India (B) Japan
J{C}thma (D) Thailand
Q88. Which planet is known as the “Gas Giant"?
(A) Venus (B) Mars
(C}Jﬁpiter (D) Mercury
S

Q0. Who wrote the famous Indian epic
"Mahabharata"?
(A) Valmiki

- (B) Kalidasa -
(C) Tulsidas :

- «~{D) Vyasa

Q91. In which year did India conduct its first
nuclear test?

(A) 1965 '13)1’974 4
(C) 1988 (D) 1998
Q92. Where is the International Court of Justice
located?
(A) Geneva ew York
(C) The Hague (D) Brussels

Q93. Which is the smallest bone in the human
body?

(A) Femur (B) Patella
(C) Ulna (E)ﬁ‘él?:ﬁ

(12)

QB4. Y[ o I T ey H9
(A) sereirget fagr (B) & iz
(C) Yferars (D) wifcfiafirsy

Q85 mmmmmmﬁmmﬁwmﬁ?
(A) TEmTZ (B) #hfzm
(C) &iftamg (D) Fms

QB6. w1 2ilye 1 wardy gt iy o5y ay By
(A) form () far
(C) e () %%

QRY. TReft Tt 3 W o sifvrme saffory oy o
ifeer e

(A) 2010 (B) 2012
(C) 2008 (D) 2005

QB8 Févar 3t Yarny 1 iy ary eeqrerg By FHTATE)
(A) Wt (B) ST
(C) i (D) aréefe

Q89. fore & %1 "irer Zrrar % AT & =T = 29
(A) 3% (B) I
(C) Tewfa (D)7

Q0. ez udt TeTHey "HE™Ra” forer fora am
(A) arHifts (B) #ferera
(C) gorsier (D) =™

QO 1. TR 3 7T e vy wlreqwr b = e oo
(A) 1965 (B) 1974
(C) 1988 (D) 1998

Q92. iR =marera wat Rerg

(A) e (B) =gdih
(©)3m (D) gi=w
Q3. e TR 1 Tl BN et B el
(A) P (B) W=

(C) Ser (D) W=
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4, Who is known as the "Father of the Green
gevolution” in India?

ngnf M.S. Swaminathan

(B) Dr. Norman Borlaug

(c) Dr. Verghese Kurien

(D) C. Subramaniam

95, Who is known as the "Father of

Geometry"?
(A) Ari_stotle (B) Pythagoras
)Q.Eu'clid (D) Archimedes

96. Who is known as the "Father of Medicine"?

)Mm;pocrates (B) Galen
(C) Aristotle (D) Avicenna

7. Who was the first Indian woman to win a
gold medal at the Olympics?
(A) P.T. Usha ABJ Mary Kom
* (C) Karnam ‘Malleswari (D) Neeraj Chopra

98. Which Indian state has the longest
coastline? )
(A) Maharashtra

pﬁlﬂarat

099. Who wrote the famous book “Gitanjali"?
Y Rabindranath Tagore
(B) Sarajini Naidu
(C) R.K. Narayan
(D) Bankim Chandra Chattopadhyay

(B) Tamil Nadu
(D) Andhra Pradesh

Q100. Which planet in our solar system has the

most moons?
(A) Earth (B} Ma
; (C) Jupiter {D)-Saturn

(13)

Q04 S 1§ fa wifir i o o v o F st St
(]
(A) 28w g, wnfirae
(1) 1, ioky wpeadin
(C) 1. alle o
(1) T, 1gsengr

095, *wferfey i srereRt i w1 e s gy

(A) 3psg. () Tz

(C) Yfers () nfdfudin
096, " Faferenr 2 sy 7w 1 B s sman 82

(A) fevitiizar (B) e

(C) sty (D) vfadr

Q97 3itetfies 3 wavh yaa Sl aredl yredr wrdra wfeen

i ofi?
(A) 2 3m (B) B 2
(C) Fm Heeradt (D) i =gt
QY8. T F Forr U= o et wad it 37
(A) FETas (B) aferTg
(©) 5T (D) T T
Q99. Wftg geash "ftararedr fre foreh?
(A) T=AT 3R :
(B) HIfSHl g
(C) AR, TR0
(D) e =iz T2
Q100. TR E Hget # fore 718 o yrer el 31firep g1 &2
(A) et (B) HT
(D) ¥

(C) Fewfa
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g
g‘i:z'_?z_xz v-$34 xzxzzx'lﬁﬂu-’ K

29’ = 16 = |
Q101. Find the remainder when 2#! is divided by

oY
(A)1

A3

Q102. The difference between a positive proper
fraction and its reciprocal is z—gn . The fraction

is:
3
(A) =
3
(S v

._gz_.
:8;3 2{_6Q’

b
2’ - 128=73

[ 25 =256 =\

MATHEMATICS

() 2
(D) None of these

B

(0=

Q103. What will be the remainder when
(6757 + 67) is divided by 68 ?

S
‘(166

(B) 63
(D) 67

Q104. Find the HCF of 2, S, 2and 22 .

SN

9

Q105. The greatest number which on dividing
1657 and 2037 leaves remainder 6 and 5
respectivelyis :

(A) 123
() 235 (D) 305
Q106. If 2* = x32, Find x:
(A) 192 (B) 219
256 (D) None of these

Q107. Find the area of the Trapezium given in the

figure :
10 -
]
\
13f
\ 3 l
I C
10 25 1'%
(A) 123~ (8) 191
LEFT06 (D) 200

()3

3
(:\}g

o
©) %

‘[z;f

3 Le)
2= 93 e_ .
?"': \- z"d'-

QI()I w23 @ s q fervniferr faant STt & 6 vz

q-
(1\] 1 ? %/ ()2

I6 28 1) %t 4y )
Lot (D) e

Q102, v warenres 3ferer gt i3 w2enn % afve o

9
— D "_"?l:
afat = &1 fir

4
B
®)5

Q103, 5 (6757 + 67) Y 68 U Fernifara Fear o

DET Far

(A) 1 (B) 63

(€) 66 (D) 67

le.;, g, g 31’11-1-9- T HETAH HHTIE A T L,

2

A@— (B ]'—
F36dR= 11 2

& P Sy ?23\ Oy

Q105. 98 99 51 9@ 1657 FHT 2037
fernfsm @ wespam: 6 3t s Nw s=a &

(A) 123
(©)235

(B) 127
(D) 305

Q106. AfE 2% = x32 G x T U= FAT B

(A) 192
(C) 256

®3219
(D) T A g et

Qlﬂ?.ﬁaﬁﬁqmmawa@jaasr & T hIToTT:

S 7
; W
z
il 1%3’5)‘&5&

a4 ' /z |

(A) 123
(C) 196

(14)

(B) 191
(D) 200
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q-
: , = &
e 24 oW
z - : oy
rrhe
4108.)n the given figu_fc find the area of the
circle.

108, fau

h ]

- —

=

D
7 et 1 7471 761 @37 ST #ifsmy

6 5
3
3
A
4 (A1
(A) (B) 2
(C) 4n

YAl
(C)4m ()9
(D) 9
n the given figure find the area of the
S

haded circle where semicircles are
identical:

Q109. 2w, e fir if praifn e o1 A v afore, el
apfar o ¥,

20
20 20
P 20
(A) 60 BYE0 1 (A) 60T (B) 80T
%1: (D) 84w (C)64TT (D) 84 1T
110. Measure of each interior angle of a regular Q110. ws fFrafird sigye & T&F Siafi Fivr 1 A9
polygon can never be : r o 78 1 Tl
0 “1neo =
(A) 150 ‘JB , 1050 (A)150° (B) 105°
(c) 108° (D) 144° 5 ,
| - (€)108° (D) 144
Q111. 6 identical small circles as shown in figure Q111. 32 Yt Firsam a1t O 9IS JU H 6 WH B I4

are inscribed in a large circle of radius 32 sifea &1 fau e feet % srgam B1e it <ht Frewn T
cm. Find the radius of the small circles: i ,

% 64
= (B) — 16 64
332 332 ' (A)? (B)';

@5 By 32 ' 32
(C)? ‘ ) e
(15) 3 SET-B/CLASS-IX/2025-26
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N -80 <NGeD
b = Box2AL rot

\aii
NJéx b XL )nb)(
bg{?ss: qxwe)){\% I’JE "”g

Q112. ABCD is a square such that AP = BP, area of 0112, An(:m{mari% farait AP = BP, A DPQ 3
A DPQ = 80, Find X : *.Y) vt 80 B, x s Afsio;
et - [ 1 *\“\ :: P )
A it T B
0]
X
D F C
(\) 8Y2 A (A) 8Y2 ()16
(€) 16v2 (D) 24 X (C) 16V2 (D) 24
QU13. In the given figure, AD = Di, ¢ ¢ Q113 R R i, AD = DB, zben = 15° 4

'u 2 - .
e T EER  ae we
KOE © /e (C) 45° (D) 60°
- - 1
Qli4.1fx +§ =1, then the value of A Q143 x + X L=
X124 99 £ x5 4 %3 4 1is: _éﬁt.";: x4+ % +xb + 22 + 1w,
(A)-1- (B)-2 (A)-1 (B)-2
1 (D)2 ' o (95089 ©1 )2
= 1
Qus.fa-2=h,b—2=c,c—1=q,then QusaRa—Z=bb-i=cc—>=gq3
1 1 1 . 1 1 -
A,1  158Ee : 1 RS, T
0 b e ca_?° ab bc ca
I 12 ST (®)-1 G B) -1
qhe (€2 (D)-3 ©)2 (D)-3
Q116. If two parallel lines are intersected by a Q116. % 3 AR st =1 w e Y g s
- transversal then the bisectors of the SAETEar aﬁhqﬁuﬁ%mm%
4 ' interior angles form a: (A) TS B) OHi W
I 4 . W
f === (A) Rhombus ,(—B’]ﬁrallelngram ©at ED};W
(C) Square (D) Rectangle -
Q117. The difference between the interior and Q117. @ frafira gy & artafs sk aret it
exterior angles of a regular polygon is 60°. T I 60° %lqﬁ‘j,ﬁﬁ Y[ o W &
The number of sides in the pnlygan is: (A)5 (B) 6
(A)5 ©)8 (D) 10
©8 ‘ﬁi‘
SET-B/CLASS-IX/2025-
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asb

o

Qu18- A polygon has 27 diagonals, The number of

P ey 1529‘""' K
n:s\"’ 257 )

RV, DB XEes
AL 25 bt
2
% ™ 22"3[ fk.. ﬂpﬁ’

Q1 18, s gy i 27 fot ) e o6 et o1 e

sides of the polygon ls; p.
( 10 (A)Y (1) 10
AC) 7 (0)8 F (©)7 )8

s}

Q19.Ind right angled triangle, If the square of
the hypotenuse is twice the product of the
other two sides, then one of the angles of

_the triangle Is:
(A) 15° (B) 30°
() 60° (pyas®

1120. Let ABC be an equilateral triangle. Let BE

Q119, vts vorvnon favgon i, 26z o gt e 7 w14l
5 vkt 1 A B, o g v B
(A) 15" (1) '
(C) 60" (n) 45"

0120ttt B ABC vz sy Pogat 81w eifan o,
CA % wiaaa § s cA @ E e Sz B

be perpendicular to CA meeting CA at . W 3 s 9 .
Then AB? # BG? + CA% isequalto: (1 A”' ' H)(' + CA” s
BE? (B) 3BE? (A) 2BE (B) 3BE
(C) 4BE? (D) 6BE? Wy (©4BE? (D) 6BE*
G
A 340.6+0.740.8
1121.Theva|ueof0.§+0.€+U.7+0.§| (;, . 12 '0'3;33}%;‘]’ i b
fraction will be: oAb YC g TR :
b1 (A)2— B)2-
W o d%%ﬁ; ' W o
2 (5= = -
55 (D)5 s 8 1_% %9 £ 3
z f 2
u2. If(=)= (;) then (xy + zw)? is equal to: Q122.9f% (y ( ??r(xy + zw)? T a3

@ +w?) (y:+2%)
(8) (¥ +¥») O* +w?)
(€ x* +¥?) (z* +w?)
(D) (x* + 2% (¥* + w?)

}123. What should be added to

x(x+ Hix+ ZaT(x + 3a§ so that the sum -

be a perfect square?
(A) a? a” SRS S
(€) a® /{?)Tong of these

124.1F2% = 3P = 6~ then = + =+~ s
a b ¢

T (8)0

(C)-—— (D)a+b+c

abe

1125. Solve for natural numbers a and b

W57 o 5a-5 4 5b-S
600(302+202+4600) -
a=3b=1

(Mla=1b=3
©a=3b=3 “(Da=1b=1

f[ﬁ&-ss - )

(3

(17)

@A) (% +w?) (v* + 2%)
®) (% +y») (* +w?)
(©) (x* +y?) (2% + w?)
@) @* +2°) 0" + w?)

Q123. s x(x + a) (x + 2a) (x + 3a) FFTN

e e ol et o ol e €
(A) a? (B) a*
. ©a (D) ¥H A g T

lemﬁ:za—sbrﬁ‘cﬁt + += asrqr-razn

B ?
A1 B)0
(C);E; D)a+b+c

Q125 Tt HEA3 @ and b H1 &6 HL:

105-65-45 - T b=5
600(30242024600) S +5
Aa=1b=3 B)a=3,b=1
(C)a=3,b=3 Ma=1b=1
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1352 v z -‘ ®
W, = qu_p 66(91 20&.{[”"“) 5 %o
6
T g g =R ,mfu,gcaa)\gff" /%{'75
Z A=—gon ffer
b
Q126. ua:sqﬁf::r wﬁﬂﬂ?ﬁ'ﬁmw
Q126. A man employed a worker for a certain e o it 77 fof 8f 77 Q1 T ¥ A
work to be done in some days. He pays ﬂmmmﬂﬁﬂﬂiﬁm 20 %99 7 YT
Rs.20 to the worker for each working day mmﬁ%mﬁrmﬁﬁaﬂ%w
and the payment is reduced hy Rs.3 for i oy el 1 et &1 7t aAftre &1
. each non working day of the worker. For AIAr i 3 51 ;i atfiafie % w98 560 7
46 x|l® how many da\fs the worker does remain 120 et % oA Wxﬁ mnﬂﬂ"ﬁ"“"'m ?
30 6 absent from work if at the end of 120 days, figeray v ey et ek —
he gets Rs.560 as total remuneration? (A) B0 i :;U
\ (A) 80 (8) 60 ©70 Vi
(€) 70 M |
gov, a2 s el o 8, 5% pefrit 3 il
Q127. 9% F#t o =kl
AP Q127. In an examination paper of five questions, ey fan aive 5% 3 i 70 ot 2t
y 5% s answered all of them ir 25% AT 3 F7AE VA A4 1 7 e oA
y and 5% answered none. Of the rest, 25% 20% 3 4wt 7 gt f7m uf 396 st 3 o
5 V. canaldates ates answered only one question and o wsit a3 wegt o e e, vt i 423 A

20% nnsWered 4 questions. If 396
candldates answered either 2 questions or
Q9 !

3 questions, the number of candidates that
487 3%

appeared for the examination was:
bv- g

(B) 1000
; [ocx. =58°°

h 5/,

—

(D) 900
Q128. A man divides his total route of journey
_ into three equal parts and decides to travel
[ P=w the three parts with speed of 15 Km/h, 10
' A Km/h and 5 Km/h respectively. Find his
— average speed during journey.

w
_.__'\'.5-’!1'\ 5‘%} (A) 2.28 Km/h (8) 9 Km/h

; (C) 14 Km/h W‘ Km/h

94642 Ql129.Ifa+ b =69,

) find (@ —34)% + (b —35)*° +2 -
s (A)0 N L fh
Sr3o (c)2 (D) -1
L

8 Q130. In the given figure ABCD is a square. ZLMB

l iyg—a =900, LM = 2 units & BM = 3 units. Area of
o ﬁ_&, square is_,
% D AL ¢
M.
¢
A
B1 9
(A) 1—% (B) 55

(D) None of these

(18)

apenfidat 1 wen 4.
(A) 800
(C) 850

(B) 1000
(D) 900

les.wwf%ﬁ:ﬂﬁlw;r%'{?iﬂﬁ?}?h?mwﬁt
Frarfora aan & 2 1T s 6 I 15
fpfiyan, 10 fereirzr 2 s Pfvaz frafa &
T e = Rt S 21 3w 3 4 uh Sl
Tifer e ifera
(A) 2.28 Tersfireer
(C) 14 feprireer

(B) 9 Frfiraer
(D) 8.18 Frrfiyeiay

Q129.3@ a + b = 69,
Fa® (@ —34)%5 + (b —35)% +2
(A)0 (B)1
©)2 D) -1

Q130. fég 1y fo= § ABCD T 1 8. ZLMB = 90°. L}
=2 313 3R BM = 3 3973 21 371 7 et &:

L

D_] I_C

A B
81
) T ®) =
© (D) 378 A ek
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fl131‘ From a container having pure milk, 209 is
replaced by water and the process |s
repeated thrice, At the end of the third
operation, the milk is;
(A) 40% pure

(B) 50% pure
_(;yﬁm pure

(D) 58.8% pure

Q132.A dealer sells goods at 4% loss on cost
price but he uses 28 g instead of 32 g. What
is his percent profitor loss?  § § x

, \
)@)’tfi% gn , (8 14% % loss

(C) 16.% gain (D) 165 % loss

Q133. Atradesman allows a discount of 15% on
the marked price. How much above the
cost price must he mark his goods as to gain
19%: .

() 34% W

L (0)25% ‘}p}( %

regular polygons is 1:2. If each interior ~ ©
angle of the first polygon is 120°, then the
measure of each interior angle of the
second polygon is :

(A) 140° 50°

(Q 135° (D) 160°

Q135. The angle of rotations (rotational
symmetry) of an equilateral triangle are :
(A) 90°, 180°, 270°, 360°

(B) 60°, 120°, 180°

(C) 1209, 240°, 360°

(Dy60°, 120°, 180°, 240°, 300°, 360°

Q136. If the mean of a given data is 56 and

- median is 47, then mode is : \ 2
(A)29 9 7
(c)49 (D) 59 qf\lﬂ v

\\
(19)

I

Q134. The ratio of the number of sides of twoyw N

QU1 3 o ) s o2 i, 20% 71 1 orfl @
v st & afhe a sl e s g e B
dvenly s o st i, v B
(A)40% Y@
(C) 51.2% 9@

(1) 50% 1%
(D)) 58.4% 7%

QU32. v et enmrr s e 4, ) w9 AT e
&, A a1 32 i 3 apstrr 28 7000 AT 3P ECAT
&1 v wfivara e o wify w82

(13) 145 % 714

(D) 16 % 7if4

(A) 9;‘-% T
©) m%mnﬂ

Q133 Y samardi sifea 7 T 15% 1 7z B0 19%

T ST A 5 fow 3 Ao x4 e A
e aferen vy sifi e g

(A) 34% (B) 40%

(©) 25% (D) 30%

Q134. 2 Frafira sggst it sfsil ot He whr ama 1:2
2 AT Tect TR Bl e it Hio 120° 8,
FE SR 5 T A feeh HIvT 1 A
(A) 140° (B) 150°
(C) 135" (D) 160°

Q135. T HaTg Py 3 it hvor (off e &
(A)90°, 180°, 270", 360°
(B) 60°, 120°, 180°
(0)120°, 2407, 360° .-
(D) 60°, 120°, 180", 240", 300, 360°

Q136. afé faw e riwei 1 aveT 56 & R TR 47 7,
?f'fi@?ﬁ?%:
(A)29 (B) 39
(€)49 (D) 59
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Q137. In the given figure ABCD is a Rhombus and
ABEF is a square, find ‘a’.

g iF
o137, Ak s if ABCD v g & i ABE

v i B, 'a' 3 i)

: E
F
i
a
B
A Jt \ .
\
\
, 60° y “,73\% 5 » & A
D

(A) 30° / B) 450 BV '0\‘\/ ot (A) 30" (B) 45"

QI38.A,Band ¢ can do a piece of work in 20, 45
and 120 days respectively. They started the

Q138 A, 13 30T C 107 19 %1 F970: 20, 45 AN 120 A

Work together. A |oft 10 days before and B K @ TWT i :_ﬁm U'Zm.{m ﬂsgl_;q ar
left S days before the completion of work. A 10 et et e B 3 4 Fa

" how many days s the total work R e e et et it oy v

(A) 10 days _/&B‘ﬁ days =i . (D) 45

(€) 30 days (D) 45 days J’%% (C) 30

- W
Q139.1f 10 Spiders can catch 10 flies in 10

minutes, then how many flies can 200

spiders catch in 200 minutes?
(A) 200 (B) 2000
(C) s000 00

Q140. The average speed of 3 train in the onward
journey is 25% more than that in the return -
journey. The train halts for one hour on
reaching the destination. The total time
taken for the complete to and fro journey is
17 hours, covering a distance of 800 Km.

The speed of the train in an onward journey

is:
M km/hr

(A) 45 km/hr
(C) 52 km/hr (D) 56.25 km/hr

Q141. In a game of billiards, A can give B 20
points in the game of 120 points and he can
give C 30 points in the game of 120 points.
How ﬁ'i'ic:w points car B give C in a game of

90? T
(A) 9 points J,B»Hs/points
(C) 6 points . (D) 3 points

(20)

Q139, af& 10 wefzat 10 fime # 10 wforaal w5 w1 %,

3 200 wEREET 200 firre # fraet wfraat wrz
et 87

(A) 200 (B) 2000

(C) 5000 (D) 4000

Q140. =Y =t =1 3 31 i v ey e < gern
1 25% 3ifeh 1 3 vided W e e 3 Ty
bl 1 ST 371 370 = o A % o ol v
a0 17 52 71 800 FFeft & oy < A f S Sy ify

(A) 45 Tfipar

(C) 52 Ferrireter

(B) 47.5 ferddiyeer
(D) 56.25 ferrfi/ear

Q141. faferrds 5 wh @ #, A, B Y 120 351 Qe i
20 3% 3 THAT 3 AT CHY 120 3! @

30 3% 3 TR 31 90 H AT A B, ¢ ) P st
T €7

(A) 9 3=

(C) 6 3=

(B) 18 3§
(D) 3 3%
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DIRECTIONS (Q142-146): Study the following
table and answer the questions given below:

Classification of 100 students based on the marks
obtained by them iIn Physics and Chemistry In an

examination

Marks out | 40 an 20 10 0 and
of 50 and |and [and |and | above
above | above | above | above

Subject
Physics 9 ‘32 BO 92 100
Chemistry 4 21 66 81 100

100

(Aggregate) 7 27 73 B7
Average L,—_.-—-—--—"""’"_H

Q142. The number of students scoring less than

40 % pparks in aggregate is:
M s (B) 19
(c)20 (D) 27

Q143. If at least 60% marks in Physics are
required for pursuing higher studies in
Physics, how many students will be eligible
to pursue higher studies in Physics?

(A) 27 (8)32 -

(934 .(D)41

{

Q144. What is-the difference between the

number of students passed with 30 as_cut

off marks in Chemistry and those passed
with 30 as cut off marks in aggregate?

(A)3 (B)4-.
5 @;5/

Q145. The percentage of the number of students
getting at least 60% marks in Chemistry

over those getting at least 40% marks in
aggregate, is approximately:

(A21% (8) 27%
M (D) 31%

Q146. If it is known that at least 23 students were
eligible for a Symposium on Chemistry, the
minimum qualifying mark in Chemistry for
eligibility to Symposium would lie in the
range of:

(A) 40-50 (B) 30-40

(C)Below20 _@mf-so

(21)

fom-fak (Q 142-146): Faferftan mfera i A0
it afyesfve fao amo wf i T #:

vt vt i ek i aaror Sopsra i i 68 % avart
e 100 @l w1 s

N AR A Al
atw | iy i iy irit 1]
ofier | wfier | wfer | dfiem | ufier
P
i 0 32 70 92 190
faar
W 4 21 17 9l 100
BT
() 7 27 7 %7 100
sftira J -

Q142. T FIGITT 40% & 71 % 1A 74 1A T 41

e
(A)13 (B) 19
(€)20 (D) 27

Ql43.ﬂﬁmﬁﬁm$ﬁﬁﬁm‘ﬁﬁﬁﬁﬁm
AT 60 3% AT &, A e o e #
I ST O & forg T E?
(A)27 (B) 32
(C) 34 (D) 41

Qlu.wmﬁﬁﬂﬁwa:zaﬁmﬁ%msﬂrﬁmsﬁ
1 e sitt et Rt 30 2 31 37 & 4
SF 21 ST Sl ohT EEAT 3 sfi= T 3 &7
MRS (B4
©5 B (D)6

Q145, Tara g & 0 & S 60% 3o S0 & ared
BTl ol HEAT et (At 7 & FH 40% 3k W
F T T o] GEAT & T e &
(A)21% (B) 27%
(€) 29% - (D)31%

Q146. Tf: 78 71 2 % %0 A0 23 B WA A ™
U Y o fore arr &, A et i o & g
T o H e Far 31 s e Er:
(A) 40-50 (B) 30-40
(C)20¥FH (D) 20-30
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Q147. In how many years will Rs 1800 amount to
.Rs 2178 at 10% per annum when

C) 5 years (D) 6 years

cogxpoundcd annually?
/( ) 2 years (B) 3 years
(t

Q148. One of letter from the word “MOYEMENT"
is chosen at random. What is the
probability that this letter is M?

(A);
(€3 (D)

o ||

TS S .

Q149.[fx—-;—4,then.\+x|s.9\,\ W
e ©£3
Y ey

a b c
Qiso. |fla +1;E + P 1 then value of
188

(A)0 § T

)3 (D) 4
QI51.fx =243 then find the value of
x2—4x +2is .
(A)o (B)-1

’LQ/ (D)2

Q152. The HCF and LCM of two numhers are: 21
and 4641 respectively. If one of the number
lies between 200 and 300, then find the

two numbers.
(A) 273,363 . (8) 273,350
(€273, 361 /Lmz)nﬁm

Q153.Which of the following numbers always
divide the difference between the squares
of two consecutive odd integers?

A)7 '

( ()3
o8 (D)6
Q154. After travelling 80 Km, a train meets with

an accident and then proceeds at -i— of its

former speed and arrives at its destination
35 minute late. Had the accident occurred
24 Km further, it would have reached the
destination only 25 minutes late. Find the

speed of the train.
(A) 50 km/hr (B) 55 km/hr
(C) 30 km/hr km/hr

(22)

Q147. Fer @it 3t 1800 7 o oy 10% uftt ad oy »
Al s a7y wi oy
(A) 27 (B) 3 7
(C) s ad D) 67

QI48. 9153 "MOVEMENT" if i u;

4 Hmup,jf:;;;g
mﬁ"ﬁmmf‘ﬁm’m%mﬁwmfmm
TG A M
S |
pas 1
(A)% ®);
) 1
©3 o)
1 15
Q"‘g-“ﬁx“;b;.ﬁix-i»immwﬁm?
1
! B) £7
17
©+2 o) +2
1503k —4 2 4 € g1 1
! $ﬁ§ﬁ+1-chlmx—a+x-b+1-
(A)0 (B) 1
)3 (D)4

QI5SLARx =24+ V3 M2 —4x + 2 HUATAT
(A)0 (B)-1
©)1 (D)2

Q152. 1 G 1 Hew FHId (HCF) 3 e
| wEmEE (LCM) A 21 3R 4641 3 IR 39

T HEAT 200 31 300 % &l 3, @ 3 wed g

Hifsm

(A) 273, 363 (B) 273, 350

(C) 273, 361 (D) 273, 357
Q153. Firfoifiae o & = w wream e 3 s Ry

qurieR! 2 et o i 3 SR Y Ry st 2

(A)7 (B)3

©8 (D) 6

QI54. snmﬁmm%_m,mzﬂrgﬂamwa
St @ 3R R e o i o 3/4 iy o
et & 3 31 i e 35 forre 3 g
afe gl 24 foreiviet a1 8t A g ieer w
ot <t 6 & wgerell 37 S rfy iR,
(A) 50 Ferefieier (B) 55 ferftyeiar
(C) 30 ffiyerer (D) 48 fepftyeier
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Q155. The marks of 3 students A, B and C are in
the ratio 10:12:15. If the maximum marks
of the paper are 100, then the marks of B
can not be in the range of ; \2xT

(A) 20-30 (B) 40-
3*‘-%

(c)70-80

Q156. An equilateral triangle, a square and a
circle have equal Perimeters. If T denote
the area of the triangle S, the area of the
square and C, the area of the circle then:

(A) S<T<C (B) T<C<S _
g

(C) T<S<C

Q157. The altitude drawn to the base of an
isosceles triangle is 8 cm and the perimeter
is 32 cm. Area of triangle is:
(A) 50 cm? (B) 48 cm?
(€) 70 cm? (Dy6Tem?

Q158. A rectangular piece of paper is 44 cm long
and 10 cm wide. A cylinder is formed by

rolling the paper along its length. Volume of

R :" =
(B) 616 cm? ﬁ‘q
(D) None of these qﬂ.’ Wi

cylinder is:

(A)350¢ o
Vﬁﬁ

Q159. Let the largest possible right circular cone
and largest possible sphere be fitted into
two different cubes of same length. Let C
and S denote the volume of Cone and
Sphere respectively, then which one of the

following is correct? .
)C=3S

(A)C=25
(c)c=5
Q160. In the given figure ABCD is a Rhombus in
which £C=60°. Then AC: BD is equal to :

D = C

A B
(A)1: 3 (B)v2:1
(D)v3:1

,(}H’:'\/Z

(23)

4%

~

0155, 3 @l A, B 3 C & i 10:12:15 i g 7 1
af e 3 st 3 100§, @ B % 3 fra
v 1 =1l vy w7
(A) 20-30
(C) 70-80

(13) 40-50
(D) K0-90

Q56,0 Ty []“:,l' s ath sy v e rfor anE
B 1 fuagen ot e, o o v she C 7
o1 &y aaifar B
(A) S<T=C
(C) T<S<C

(B) T<C<8
(D) C<8<T

Q157. wk wnfans; Fvsgsr % s oo wlfefl mf o 4
Wl & s 32 dfy B fong 7 daeer 2:
(A) 50 cm® (B) 48 cm’
(€C) 70 em’ (D) 64 cm’

Q158 T 31 T AP g1 44 fi efarr A 10
Al g &1 st a4 s e  wifan gaA A
T e ST 8] 2e o1 ST o
(A) 350 cm’ (B) 616 cm’.

1'\° (C) 1540 em’® (D) 70 @ 1 T

Q159, A ST f3 T 7 Fvia o e ¥ig AR =
2 i i e et 2 R ot e
foraT AT 2 W ST C 3RS shA: vig SR
7 T < &, i Prfeiea 3 & a1 ae 87
(A)C=28 (B)S=2C
(©)C=S§ (D) C=38

Q160. anéa@ﬁﬁmcnqa:mag\jﬁﬁaﬁ LC=
60° .l AC : BD S & : .
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Q161 Trlangle of side lengths a, b and ¢ (where ¢
is the largest side) Is an obtuse angled
triangle il
(A e? = a® 4 b?

0)c? »a’ 4 b
(C yrf\: a’ 4 b’
«{D) No such condition exlsts

Q162.The product of two numbers Is 24 times the
difference of these two numbers. If the sum
of these numbers is 14, then the larger

number is: y_ﬁ
ANB (B) 6 44
(€10 (D) 12

QI63. In the given figure ZBAC = 70", 2BCD = 600
» £EFC = 80° and ZABC = 60°, How many
isosceles triangles are there In the given
figure ?

A D

C
(B)2
}QG/ (D)4
Q164. In the given figure PQRS is an isosceles
trapezium and PQ_|| SR || MN. If Z5PM = 70°

and £ PQR = 110° then ZPMN is :
R._ A L% : W0
F )

oS 19
’ ?}4400 \\ (B) 1so°\Q
C) 120° \ (D) 100°

Q165.Two filling pipes P and Q are fitted to a
" tank. P is first opened for half the time
taken by Q alone to fill the tank and then
closed. Q is then opened for half the time
taken by P alone to fill the tank. If the tank

is full after a total of 6 hours after P was
opened then for how long was Q opened (in

hours)?
(A) 5 4
(€)3 (D)2

(24)

0161, o, b 3l ¢ ypaif 1 e wret g (i . -

ol vy ) v o o At fga 8 s,
A e = a? + b

m,r:z > a4 h*

() ¢t < a’ -+ h?

(1) iy 4 fofis vz ot

(162, 71 el 0 i oA 7t ezt e

AT B o g e Al i (4 8, a1 wh v
(2

(A ()6
(©) 10 ()12

0163, Ak sl it LBAC = 10, LBCD =4,

LIHC = 40 e £ ABC = 60" Ak Avgfa
1’?;”:' "_{l{i;;q‘[[i fﬁi,{ ﬁ-‘;
A D

\¢

B E C
(A1 (B)2
(€)3 (D)4

Q64. faume fopr & PQRS w wmfzeg @weta ¢ 2 p

I SR || MN. afz £SPM = 70° 3R £ PQR = 11
ﬁrzpugné;

= Y

\,
e

() 140° T mse
©120° (D) 100°

Y]

~

Q165. 3 fRfeim gy P 3fi Q wwh &= fre frume iy

1 TR T Q FI &b W R W
a3 fow e st & af i e v faram
R Q &l & i f arkat P g v e s
% for e <t 21 2R p A @R F R g ¢
TS &6 W R © 1 Q Y v w3
T o (si2 )2

(A)5 (B) 4

©)3 (D)2
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Wi
Q166. If x = - ity then find the value of

42 xi

x=2 _x=2/2'

1""’-) ) (B) 12 4 (V7
(€)12 = 8y2 (D) =2

Q167. A certain sum was Invested at a certain
rate of simple interest, It took 20 years to
quadruple. Find the time that the sum
would take to become 9 times, If the rate of
interest was 5 percentage points more (in

years).
(A) 30 ‘Jnrgh
(C)40 -(D) 45

Q168. Which of the following is the most
beneficial for a customer?
(A) A discount of 40%
(B) Two successive discounts of 20% each
M/A 10% discount followed by a 30%
discount
(D) A 30% discount followed by a 10%
discount

qie9. If (@+b):(a—b)=5:3 then find
(a? + b?):(@® - b?)

(A)17:15 /(«8165:9'
(C4:1 (D)16:1

Q170. The value of

E-DE-DE-D (-3

999
(A= ( ’ﬁ
— o

(o) (D)=

1001

(25)

Olo6, 1r x =
i,
(M) 2
()12 = /2

AVE o X42 _ 2422 s
Jiv1 " x=2

x=22

()12 + 82
(n)—2

O167, v xfea vifan sppeppen 2ara £ v ffga 20
favivar o6y mok oy e g 8 5 20 v 710 Iﬁ"
watra e § e b dfves cofl i) A A 9
1AL i e v w1 A1)

(A)30
(C) 40

(B)36
(D) 45

0168, Frerfafera it & ¥ o wes % fov, vai A7

IAAF 87

(A) 4% A1 72

(B) 977 2%, 1 21 R 7
(C) 10% 72 % 9% 30% 72
(D) 30% 7Z % 9% 10% 72

Q169.ai‘z(a+b):(a—b)=5:3?ﬁ :
(a® + b?): (a® — b*) FTATAFL

(A)17:15
(©)4:1

(B)25:9
(D)16: 1

Q170. (2- ) (z -3 (2 =2) (2- 27) 1 HH I
Eod

1001-5:7 5
B ——gé

999

C 5
()1001 =

B 999
( )1001
1001

==
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Directions: (Q171 to 175)

Study the following graph to answer the
questions that follow:

NUMBER OF SOLDITRS RECRUITED (N THOUSANDS) h‘
TN THREE DIFFLRENT FORCES IN S0 DIFFERENT YIAR

OArmy DAiforce B Navy

% Il a8
HE =L %
[ L
it
* |, ol | 2 <)
—= = S - S

Q171. What was the average number of soldiers

recruited in the Navy over all the years

togethes?
5000 (B) 24000
(C) 2400 (D) 28000

Q172. Number of soldiers recruited in Navy in the

year 2009 was what percentage of number
of soldiers recruited in Army in the year

2006?
(A) 140 (8) 150
(960 (0) 180

Q173. If 30% of soldiers recruited in Airforce in
the year 2010 was female, what is the
number of males recruited in_Airforce in

that year?
(A) 63000 _(B¥6300
(C) 61000 (D) 6100

Q174. What was the respective ratio between the
number of soldiers recruited for Airforce in
the year 2005 and the number of soldiers
recruited in Army in the year 2009?

715 (B)5:13

117 (D)15:4

Q175. What was the approximate percentage
- decrease in number of soldiers recruited in
Army in the year 2008 as compared to

previous year?
(A) 20 (B) 23
- loy3s (D)33

(26)

-G Q1717 175)

Frafrfiara et & v A 3 o Freaferfia o 2
amiﬁ;

NUMBER OF SOLEATIVS RECAUITERD (IN THOUSANE)
INCTHREE DI FERENT FORCES 1IN SIX DIFTERENT YEAR

CVArmy E1AIToree € Navy

[ ] 3
e=SEZSTES2E35285228223=23

Sumter of wideny receted

o |

006 2001 008
i Foary

|i®

QI71. anfy a if e if sreff g o, e iy s
weE ferert o7
(A) 25000
(C) 2400

(B) 24000
(D) 28000

Q172. 3 2009 3 AT wreff ¢ AR <t e, 74

2006 &1 wreff gu ARt Y g w1 fra
aftrera eft?

(A) 140 (B) 150

(C) 160 (D) 180

Q173. = 2010 F SR & v &1 Ay A

30% wfeend o, & v o arden & ol Y e
eI < we foha R

(A) 63000 (B) 6300

(C) 61000 (D) 6100 -

Q174. 5 2005 ¥ A& F weff 21 ey AR By v

3 2009 3 373 et Y ey A 1 v
& sffer weifira aTa a0 om?

(A)2:15 B)5:13
(€)2:17 D) 15:4

Q175. et ad et e 3wk 2008 F it T By

Al fr dem e fr st < it
(A)20 (B) 23
(C)33 (D) 33
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INTELLIGENCE TEST

z . _

od, 2 means we @y bad andGagn
'cans good and bad, Which of the
ollowing does represent and in that code?
(A)2 ()5

/(m/ (03

Qﬂﬁ&a certain code, @menm you (e

Q177. Here are some words translated from an
artificial language mie pie Is blue light mie
tie is blue berry aie tie is rasp berry. Which
words could possibly mean “light fly"?

(A) aie mie (B nie
(C) ale zie ) ple zie

Q178. Which group of letters is different from

others ?
(A) CBAED /(BNJ/HGK
(C) SRQRT. (D) TVWYZ

Q179 find the next number in the sTue'n e 6,

2,60,120____ gR
(A) 180 Q@J«Z‘i{ .
() 240 (04360

Q180. A sprinter goes off the starting block for
100 m run and at that instant the second-
hand of a stopwatch had pointed towards
North. He touches the finishing line exactly
after 12 seconds. In which direction did the
second hand point when he just crossed the
finishing line ?

(A) 18° North of East

(B) 18° East of North

"/Lqﬁilzrth of East
(D) 82° East of North

Q181. Kailash faces towards the north. Turning to

" his right, he walks 25 metres. He then turns
to his left and walks 30 metres. Next, he
moves 25 metres to his right. He then turns
to his right again and walks 55 metres.
Finally, he turns to the right and moves 40
metres. In which direction is he now
from his starting point?
(A) Soyth-west (B) South
M-west (D) South-east

(27)

0116, vt e wve i, 256 w1 s B F 400 A7 U
037 1 sy B v 0 oA 358 1 wiperd B
stoust sfv g | faerfofors 1 it v wr ufafafisen
e B sl nye il
(A)2 (h)h
() ()}

Q177 mel spfam s @1 spqaif e avet f2o, 10, ¥, mie
pie I 3 blue light %, mie tie %1 WA blue berry
B, aic tic #1314 rasp berry B abverer: F o] 41
a3t “ight Ny %1 erar 7
(A) aie mic
(C) niv zie

(B) pie mie
(1) pie zie

Q178 stk w4 w1 gy gerdt i i By
(A) CBAED (B) IHGK
(C) SRQI"I (D)TVWYZ

Q179. 3735 6, 24, 60, 120 # 2t wirzn s A,
(A) 180
(C) 240

QI180. T Hra 100 Hiet drg % forg qeardt === A arex
AT & ai T v L F dhe g2 I A
11 9T e 21 98 Ak 12 Fehe % @ fEfRim
T 0 X 81 71 Fa e e ar
e Tz 7w R <t it gmT fFar?
(A) & 18° I
(B) IR 18°
(C) 72° & % IWH
(D)STHB2CYH

(B)210
(D) 360

Q181 AT T g I Ml 3 B T@ 3 1§ AN
gt 25 Hiex Taar i ag a8 3R ga § 31K
30 e ST 81 9 WG, T8 I GTfedT AR 25
wiiet eran 31 iR 7 dramy 7ot 7% ST e @
3R 55 et e 21 37 H, 78 1% HR AT @ 3
40 ¥ ST 81 37 9 I e fag A e
famia?
- (A) gfqor-afim
(C) ST-IBM™

(B) for
(D) R
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Q182. After starting from a point, a man walks 4
km towards West, then turning to his right
he moves 4 km. After this, he again turns
right and moves 4 km, Which cholce given
below indicates the correct direction In
which he is from his starting point?

(A) North
(}%ﬁh

Q183. Shyam, goes 5 km in the North from his
school. Now, turning to the left, he goes to
10 km and again turns to left and goesto 5
km. How far he is from his school and in
which direction?
(A) 10 km, South from school
(B) 10 km, North from school
(C) 10km, West from school

10 km, East from school

(B) East
(D) West

Directions: Question 184 to 188 are based on the
following information:

% B, 7.3, €, ¢, W, n are sitting on a merry-go-
round facing at the centre. § is second to the left
On  who is third to the left of a. P is fourth to
the right of y who is immediate neighbour of y. ¥

is not a neighbour of Bory. ¢ is not a neighbour
of B.

Q184. Who is third to the left of B ?

(A) o 1By
Qd (D) ¥

Q185. In which of the following pairs is the first

person sitting to the immediate right of the
second person ?

()8, ¥ (B)B, <
: p}r B (D)'¥,m

Q186. What is ¢’s position with respect to ¥ ?
(A) Third towards right
(B) Third towards left
econd towards right
(D) Second towards left 35.

Q187. Who is sitting between a.and p ?

(A) Both € and n _ABTBoth ¢ and y
(C) Only (D) Only ¢

(28)

O142, U f.qf.‘ i{ ﬂt_—:i T ?.F wra, U st 'Tﬁm o3
foplh sreran B, e e afief v ggnn 4 F
et b1 g g, an o dyad g  ofe 4 B
sterdl B A fae v ot o ey 2 it
atfens & Forit g s g e b
(A)Fit () "=
() el (1) e

183, 7w, 31y e 1 5 Flh 3 Ay st by o
el i 10 fft sren d s ff!;r.. A
st 5 ol st &) 7 4 Frerrern i f;
o foar o i &2
(A) 10 fah, e @ afim
(13) gt i 10 i gerc i
() 10 e, T @ wfers
(D) e @t 10 Fraf, g

Torom Frion : wor 184 1 188 Frerferftam we@T T
i §:

o, B,v,8, €, ¢, ¥, n ok e w iz 41 s
T A3 ¥ 8, 1 F A g EF W, S o F A
Rt cR B,T%mﬁﬁﬁﬁm%ahqwﬁm
g &1 W By o e i 8. ¢ B gl

Q184. B % =i i e = 82
A a
©o

(B)Y
oY

Q18s. Frefifian # & forar A2 & geen =ufts gt A
A4, ¥ ®B, e
©n,p ®¥,n

Q186. 'V wra § ) = U T R?
INEEE it
(B) a§ 3R e
() afeeft o gam
(D) =Irff 3 e 35

Q187. o 31 P F <frer = dar 2

(A) € 3R 3Rt (B) ¢ 3ty 3
©)F e (D) F5 ¢
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188. How many of them are sittin
andf} ?

(A)Oore (B)1ors

((2){: 4 D)3

1189. Statement: All Actors are Musicians. No

Musician is a Singer. Some Singers are
Dancers. Some Dancers are Musicians.
Conclusions :
| : Some Actors are Singers
I1: Some Dancers are Actors
lI1: No Actor is a Singer
(A) Only conclusion | follows.
(B) Only conclusion 11l follows.

_leyExactly one of conclusion |, 11| follows.
(D) Only conclusion | follows.

B betweeny

n190. Statement: All Clocks are Alarms, No Clocks

are Cuckoos. All Cuckoos are Alarms, Some
Cuckoos are Birds. :

Conclusion :
| : Some Alarms are Birds.
Il : No Clock is a Bird

\ll : All Birds are Alarms

(A) Only conclusion | follows.

Only conclusion 1l follows.
(C) Only conclusion il follows.
(D) Both conclusions Il and Il follow

Q191-193 - Directions to Solve
Each of the following questions is based on the
following information: i =
1. Eight trees — mango, guava, papaya,
pomegranate, lemon, banana, raspberry and
apple are in two rows 4 in each facing North and
South.
2. Lemon is between mango and apple but just
opposite to guava.
3. Banana is at one end of a line and is just next
in the right of guava or either banana tree is just
after guava tree.
4. Raspberry tree which at one end of a line, is
just diagonally opposite to mango tree
Q191. Which of the following statements is,
definitely true?
ﬂ(?)fpava tree is just near to apple tree.
) Apple tree is just next to lemon tree.
(C) Raspberry tree is either left to
Pomegranate or after. .
(D) Pomegranate tree is diagonally opposite
to banana tree.

(29)

Q188 F7it  fry y o ) el 43 2
(A) 016 (B) 17415
(©)24 (D)3

Q189, e, wh aifevar drfian 1 7 sirfan m
Al ¥, g v stk ) g ada sl f)
et
W, s arbveranr s #

1 g il fryn

11 0§ sy s s

(A) Fer Favmd 1 e v )

(1) et vk 111 seqeon aan B

(C) Feragen vt 1, 1113 3 g o sgeren e B
(D) At Faeagad 11 seqere e B)

Q190 #r: Wit ufgat srant # #ré afal Fvre i €,
anfr v aremd # g we vt #
fe .
1; g aremd el )
11: 0§ w2t efy df &
101wl vefy remd §
(A) et foand 1 st @ 8
(B) 3t Fowd 11 Spgaer #tdr 21
(C) Frare fowd 111 e el 2l
(D) 3 e 11 3 111 A F@ €

Q191-193 —wATYT™ & &

PrefrRam & @ s war FreferRaa AT T
HTUTRA 2: : ’

L. 31T 3 - 37, 37w, wial, S, <A, Srelt, sl
3 A 3 e f 4 %, it & Seken 7@ I AKX
Ao afe )

2, i T 3 e 3 ofver 3 & e rmea o ik fardia
2

3, il T G 3 U S 9T 8 S 3y 3 & 25 AN
A FA T NG AT F IS HAF AR

4, TrEgat = g Y U 4R & U BN W, AW H UG F
Jrer fool o @

Q191. Fr=ifaa i & #i o e AT sU A v 22
(A) T F R I F IR IFTE
B) Fa H A FIgH IR T AR
(C) TeTarty 3 g Y a7 A1 IR & fore 81 fean
ST & 41 36F 9Kl
(D) 3R 31 U e 3 g 3 ferwotar: Fardia 21
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Q192. Which tree is just opposite to raspberry
tree?

M Papaya
apaya or Pomegranate
umogrnmte ;

(D) Data is inadequate

Q193. Which tree is just opposite to banana tree?
l'ﬁango
B) Pomegranate
(C) Papaya
(D) Data is inadequate

194-197 - Directions to Solve

Each of the following questions is based on the
following information:

1. Six flats on a floor in two rows facing North and
South are allotted to P, Q, R, S, T and U.

2. Q gets a North facing flat and is not next to S.
3.Sand U get diagonally opposite flats.

4.R next to U, gets a south facing flat and T gets
North facing flat '

Q194. If the flats of P and T are interchanged then
whose flat will be next to that of U?
(A)p (B)ya

}YFE (D)T

Q195. Which of the following combmatmn get
south facing flats?
(A) QTS
UPT
(C) URP
(D) Data is inadequate

Q196. The flats of which of the other pair than
SU, is diagonally opposite to each other?
(Ayap _IBTaR
(cypt (D) TS

Q197. Whose flat is between Q and S?

(A) P ABTU
()R (0)T

(30)

(192, ey g o i el 8 g 22
(A) i
(13) e 2 ST
(C) BT
() 2zt s b

Q193. A 41 15 el 7 17 5 A1 ferafra B2
(A) o™
(B) 3F1T
(C) el
(D) Ba1 st @

194-197 — ToTa™ & FEm
foriferftrer 3 @ welar 94 Frefefaa s o st
rL.

1. 3t afve 2fequr o7 T e e 21 9fl i o Al
TP, Q, R, S, T 4 U wimfea Prgmy &

2. Q 13 faam 1 T @ aven whe firerar & AR s
& et 8 el 2
3. S 3t U =Y fraoar: foatia e faera 81
4. U 3 9ret Tt R 1 2feor gt weie firerar & i T
TR ¥ firerar @

Q194. 7R P 3R T F Wz 719w & a7l RESM AT U F

A T i forae 2y
(A)P (B)Q
(C) R (D) St

Q195. ﬁm%rﬁaaiﬁﬁamﬂmg@‘hézﬁaﬁ
®
(A) QTS
(C) URP

(B) UPT
(D) Data is inadequate

Q19. su%mm?ﬁ'ﬁﬁﬁﬁmﬂﬂz@m%
 fopolsr: fawlia &2
(A) QP
(©)PT

(B) QR
OTS

Q197. Q3K S %aﬁa&amqéz%? |

(AP (B)U
O)R O)T
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1198, Four different
shown below,
face 3?

VRHG

(A) 4
(€)2

hsositinns of dice are a5
hat number Is opposite 1o

(B)3
(D) 6
1199. Which of the answ

mirror image of th
the mirror is helg

er figures is exactly the
€ question figure, when

on the line PQ?
Question figure . S
G| |ree E
(1) 2 3 4
(A) 4 &
(€2 (D) 1

2200. A triangular sheet of paper has been folded

and punched as shown below. How will it
aPpear when opened?

AJAlala
alal
(A)1 (B) 2

(31)

vzt 1
- al A1 i
198, il o s - vt #

e 3 A fonti v T 0 B

PHDT

(#) 3
(A4
(©? (0)6

B, a3 gt

apar axtfur 7 Tt PO AL ST
Q199. sl o1 i 4

it vt alt sy e if g A
(i

Questlon flgure : Answer figures :

B

m @ NEEC

(B) 3
o o)1
anu.zziq:tmaa;ﬁmwmm
<m?
mrnnﬂgures[:
Answer Figures
AL
m @ & @
(A) 1 (8)2
(C)3 (D) 4 ~
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